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1-YOKDIL/2/INGILIZCE/FEN iINGILiZCE FEN BILIMLERI

Bu testte 80 soru vardir.

1 - 20. sorularda, ciimlede bos birakilan yerlere

uygun diisen s6zciik ya da ifadeyi bulunuz. t of the Sun in 1769,

sure the distance

4. When Venus passed in fi
astronomers were abl

1.

. Like most creatures of wetlands, ce

from Earth to the Sun --
A) deliberately

Beginning in the 1970s, a number of
highly-publicised hazardous waste crises led public
health authorities to recognise hazardous wastes as
a significant ---- to the environment.

C) urgently

A) temptation B) objection
C) threat D) approach
E) investment \{59
<L
O

Italian scientist Spallanzani was th f{}st to ----
ystery of how bats could see a%n in total

s with some ingenious::es?)\ {(\
9\"0
Q

toads have suffered large popul
losses of their natural habitat

A) attempts
C) declines

E) productions

bacterial growth generally ---- growth of a

‘N‘-e t
& n&%ﬁption of bacteria rather than growth of an

% ividual cell.
&\O \0&) comes in B) refers to
s )
. Eng ed that the movem \{. C) runs into D) splits up
€ environmentally sa (a, N
°r human use. s\\ \{:‘ E) gets through

A) challenging B) efficient \Q\ ‘Q\K

Q
C) devastating D) vulne@#}o ‘Q\
O
E) irregular %OK

1 Diger sayfaya geginiz.



2021-YOKDIL/2/iNGILiZCE/FEN BIiL

7. Although humans ---- Mercury from Earth for
thousands of years, its close proximity to the Sun
---- it difficult for astronomers to learn much about
the planet.

A) will observe / made

B) are observing / makes

C) had observed / was making

D) have been observing / has made

E) were observing / had made

8. In 1957, the Soviet Union ---- the first man-made
object in orbit around the Earth, and since then,
numerous launch vehicles ---- to improve the
reliability and cost of placing objects in orbit.

A) has placed / had been developed
B) had been placing / are develo

C) placed / have been develop,

D) had placed / are being devel

E) was placing / were developed

ology should be Q}
of science. \

A) over / into

B) with / from \Q\ Q
)
D) agaln@amon

E) on / without %O&

Q)\)

C) for / about

&\
ot be confused ---- \{gb

N

10. In the United States, thunderstorms usually occur
---- summer months, when large amounts of tropical
maritime air move ---- the country.

A) along / for

B) at / from

C) within / to

The Turing Award, ered the Nobel Prize in ,\/\(\
omputing, is awarde ally ---- an individual @
ho has made a lasting ribution of major (S{‘

chnical importance ---- the field of compu

..O
- N
B) W|th/on/1,

12. Astr crogravity environments such as
the aI Space Station have to fix

nto a secured sleeping bag; ----, they

@ ouI t float about.

A&@v ntually B) even so

0((\0) yet D) furthermore

\{‘0 E) otherwise
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13. DNA has emerged as a potential way to store digital
information in recent years, ---- it comes with a
significant problem: the molecule is so fragile that
individual DNA strands rapidly degrade.

A) likewise B) for instance
C) on the contrary D) yet

E) furthermore

14. ---- climate change intensifies, architects, designers
and scientists are devising better ways to deal with

almost anything nature throws on our way.
A) Even if B) Although

C)As D) By the time

E) Unless

15. No single individual can be given complete credi
the development of radio astronomy; ----, Karl

Jans S Iong been considered as
ti gers in the field.

B) nevertheless

D) as a result

\{5& \{S}\ C) In comparison to

U

16. In simple animals, the brain simply functions like a
switchboard passing information to muscles, ----
in more advanced forms, particularly vertebrates,
a more analytical brain coordinates complex
behaviours.

A) unless
C) so that

E) now that

cetone is produced in y parts of the worl
eat quantities ---- its importance as a soIv and
a starting material for several chemncak

\, \‘r
——-- @nt impossibility of answering all
S | questions through science, quite a
porary philosophers do believe that

4® @ce is the only legitimate path to knowledge.

% ((A By means of

B) On behalf of
D) Despite

E) For the sake of

Diger sayfaya geginiz.
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19.

20.

The famous astronomer Carl Sagan was ----
interested in whether life exists elsewhere, ---- in
whether intelligent beings might exist.

A) not only / but also B)as/to

C)so/ that D) the more / the more

E) no sooner / than

Metabolism refers to all the chemical reactions in
cells ---- fats, carbohydrates, and other compounds
are broken down to produce energy.

A) by which B) that
C) when D) what

E) to whom

4 Diger sayfaya geginiz.



2021-YOKDIL/2/iNGILiZCE/FEN BIiL

21 - 25. sorularda, pargada bos birakilan yerlere

uygun diigsen s6zciik ya da ifadeyi bulunuz. 23.

A) similarly B) however

The Sun is a changeable star, sometimes calm and C) for example D) once
peaceful sometimes erupting with great violence. These

changes (21)---- a clear pattern with a cyclical rise and

fall of solar activity every 11 years or so. For the last

four centuries, scientists have kept records of the Sun’s

activity. (22)---- the early 19th century, German

astronomer Samuel Heinrich Schwabe spent 17 years

trying to spot a planet that he believed existed closer to

the Sun than Mercury. He failed to see the silhouette of

a new planet against the Sun; (23)----, he did keep 24.
accurate records of sunspots. (24)---- his observations,
he noticed that the number of sunspots varied in a
regular way, and the idea of the solar cycle was born.
Today'’s orbiting and ground-based solar telescopes

E) only w]

C) For the sake of

constantly (25)---- the Sun, revealing further details of 6\
this recurring pattern. E) With Ip of (8{.
O\é\
Q
\\‘<1/
21. (0,1/\ @,51/

A) followed . 3N N

A) avoi . @Qete@\ate
B) follow @ \\(b

C) alter 4 amine
C) were followed . 6

E)@Qtairb®
D) are going to follow &0\(0 ‘5\\(\
E) will follow %O \(bﬁ
& &)
B W
& O
RS
NG
AV @

) For

D) Over Q\}"
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26.

28.

26 - 30. sorularda, parcada bos birakilan yerlere

uygun diigsen s6zciik ya da ifadeyi bulunuz. 29.

A) such as B) according to

Beginning in the 1960s scientists noticed that many of C) due to D) as a consequence of
the trees of Central Europe were dying. In particular, in

the Black Forest, (26)---- in Southwestern Germany, a

large number of trees showed signs of weakening and

dying. The first trees to be struck with the (27)---- were

the pines, followed by deciduous trees, the one that lose

their leaves each year. By 1990, many trees dried out

and died, (28)---- others dropped leaves or became

discoloured. The problem was eventually attributed to

acid deposition in the forest. Although several types of 30.
remediation techniques, (29)---- replanting trees, were

tried, none have yet been successful. Scientists assume

that the damage to the soil has made it so acidic that
new trees can no longer grow in these ancient forests
(30)---- current circumstances.

A) over

A) locating B) located
C) locate D) to be |
E) to have been ed

B) demonstration (%4} \{‘0
N O
D) condition 4

E) distinctio

\\
N
Q. e\
L8
N
@
N
>
A) hence B)sot
)
C) while D)smce
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31 - 41. sorularda, verilen ciimleyi uygun sekilde
tamamlayan ifadeyi bulunuz.

31. Fossil fuels, which is a major source of pollution,
cannot be replaced when their limited supplies are
used up, -—--.

A) while renewable energy sources will not run out and
produce little pollution

B) as long as the sun shines, winds blow, waves crash
and rivers flow

C) though coal, oil, and gas are the most important fossil
fuels

D) so that the wind can be used to spin turbines to
generate electricity

E) if windmills have been used to power machines for
many centuries

32. ----, whereas decay of organic
back to the atmosphere.

A) Soil bacteria and other biol
nitrogen from the atmosphe

B) Water vapour is known to be an extremely import
gas in the atmosphere

33. Although the majority of reflexes are innate
responses, ----.

A) a reflex is known to be a response to a stimulus
across multiple systems

B) the human body has numerous essential reflexes

like swallowing

C) others are conditioned on as a result of life

experiences

E) a new-bor
first few mon

N
gh one-humped and two- hu d lenéls are
arate species names,

A) bot le and female cam gvs\ same number
of teeth for feeding »,

B) they originally spre,
Africa from Nort

C) they can int @Iy easily and are probably
varieties o{ |n pecies

Amerlca Asia, and

D) the mo coru_in n camel is known as the one-humped
n@& $ omedary camel

@ttl? central to the survival and culture of the
dic peoples of the old world deserts
AQ’

Diger sayfaya geginiz.
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35. Taking regular doses of vitamin C will not protect us
from catching a cold; ----.

A) likewise, easing its symptoms is one of the functions
of the immune system

B) consequently, over-the-counter drugs treat only the
symptoms of cold

C) hence, antibiotics such as penicillin are useless
against the common cold

D) in short, vitamin C is one of the major antioxidants
helping to heal wounds

E) however, high doses of vitamin C may help to alleviate
symptoms of cold

36. Even though birds have different structures for tear
production compared to humankind, ----.

A) tear production takes more time in humans and is a
more complicated process

B) tears of some species, includi
levels of protein

C) some components of their t
concentrations found in hum

D) maintaining eye health that is necessary for hunti

of ggat importance for birds
eare pormous difficulty in collecting

37. Contrary to popular belief, the Earth's seasons are

not caused by the varying distance from the Sun ----.

A) as our planet's tilt causes the intensity of the sunlight
to change over the Earth at different times

B) so the Earth's orbit hasg,point at which it is closest to

the Sun and another

C) but they occur becaus
relation to the plane of t

rican continent is poor in Ilra;é\tonpo’&utcrops

Q@Aeve@ed due to the

\\
B) but its northern zo *Igerm@}pamcular, has
abundant sourc (OQ

C) so these form@onx& large reservoirs sustaining the
base flow 0\ a ers

desert climate

D) whe izs@the \é little potential for remarkable
eri some African countries

for in@ﬁnce, for a long time Morocco had the
cgynent’s longest cave networks

Diger sayfaya geginiz.
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39. ----, those that occur can be catastrophic events
involving a great loss of life.

A) Although airline accidents occur infrequently
B) Because recent aviation accident rates are very low
C) If bad weather alone does not cause an accident

D) As the reasons for approach and landing accidents
vary

41. Atmospheric chemistry is a very complex science,

A) as the composition of the atmosphere is in constant
instability

B) yet much of what happ.
little

have been understood very

C) but radiation from spac with the atmosphere

E) Since the first consideration is to assist the injured in the at

case of an accident

E) evenifg
interact wit
ot
A\
N
N
o
40. The moulds that grow indoors can be of particul (\\

concern for humans ----. (\/
A) as long as the mould varieties used in cheese ,1/\\\ ,5}/

production are sterilised 4:0 ((\

o

B) even if the types of mould growing on food are \(’\\(\ (\\\

believed to cause cancer @ 0\\(b
C) unless some of the products ould metabolism B é (\\b

have great importance O b(b

>

D) even though almost all sorts \\} (5\\

surface for growth O& (bﬁ

© o%\

E) because they can cause allergic reacti & *

wh sensitive ‘\\,\} 0\0

I
A
NI
N\ \0
R
Q. e\
@
A g\j“
SEESE
NS
0\0
=)
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42 - 47. sorularda, verilen ingilizce ciimleye
anlamca en yakin Tiirk¢e ciimleyi bulunuz.

42. Lack of gravity means that the body does not have
to work so hard, so astronauts have to exercise to
stop their muscles from wasting away.

A) Yergekiminin olmamasi viicudun ¢ok siki ¢alismasinin
gerekmedigi anlamina gelir, bu ylizden kaslarinin
glcten dismesini engellemek isteyen astronotlar
egzersiz yapmak zorunda kalirlar.

B) Yergekiminin olmamasi viicudun ¢ok siki ¢calismak
zorunda olmamasi anlamina gelir, bu ylzden
astronotlar kaslarinin gligten dismesini engellemek
icin egzersiz yapmak zorundadir.

C) Yergekiminin olmamasi sebebiyle viicudun ¢ok siki
calismasi gerekmez, bu da astronotlarin kaslarinin
glcten dismesini engellemeleri igin egzersiz
yapmalarini gerektirir.

D) Yer ¢gekimi olmamasi nedeniyle vicutlari ok sik
¢alismak zorunda olmayan astronotlar egzersiz
yaparak kaslarinin giigten dismesini engellemeye
calisirlar.

E) Yercekimi olmamasi viicudun ¢ok siki calismak
zorunda olmamasi anlamina geldid
kaslarini giigten distirmemek j
zorunda kalirlar.

.O"o

Q L
’0‘ \{p
&
N
& *{\\(?
N
Q)
O
N
%)
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43.

44,

. *Qb e
e
0@

Wood becomes petrified through the process of

dissolution and change, which occurs when water

that contains dissolved minerals permeates it.

A) Céztinme ve degdisim isleminden gecen ve erimis
mineraller igeren su, odunun igine nifuz ederek onu
taslastirir.

ucunda odunun
en suyun odunun

B) Cozulme ve degisim
taslasmasi, erimis min
icine nifuz etmesine ba

C) Erimis na nifuz

edere

ller igeriyorsa
odun taslasir.

slas \(\
) Odun, erimis minera

ren su igine nifuz ettigL
gerceklesen ¢ozilme

gisim yoluyla ta§la§|fb

O
Humans have developed ‘Q}y id flower
species, one of the cla ca of which is the
Kew primrose, de\./.elcged i& famous English
botanical garden. Qo)

A) insanlar, bir
basarmist
ingiliz ik
verilebilir.

B) nIaQ\bi cok melez cigek tUrl gelistirmistir ki bunun

ik "8rneklerinden biri, tinlii Ingiliz botanik

sinde gelistirilen Kew ¢cuhacicegidir.

eg\k icek tird gelistirmeyi
byr@a klasik bir 6rnek olarak Gnlu bir
esinde gelistirilen Kew ¢uhagicedi

Bi cok melez gigek tlrl insanlar tarafindan
gelistirilmistir ve bunun en klasik 6rnegdi Ingiltere’nin
Unli botanik bahgesinde yetistirilen Kew guhacigegidir.

D) Kew guhagigegi, tinli ingiliz botanik bahgesinde
insanlarin gelistirdigi bir melez gigek tirtdir ve melez
cicek turlerinin klasikleri arasinda yer almaktadir.

E) Insanlar, bircok melez gigek tiirli gelistirmis olabilir,

ama bunlar iginde en klasik olan (inlii ingiliz botanik
bahgesinde gelistirilen Kew guhagicegidir.

Diger sayfaya geginiz.
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45. Several studies attempt to determine whether
naturally occurring soil acidification is formed as a
result of acid rain and atmospheric conditions
associated with it.

A) Toprak asitlenmesi lizerine yapilan birgok arastirma
asit yagmurunun ve buna bagli hava kosullarinin, bu
asitlenmenin dogal bir sonucu oldugunu ispat etmeye
calismaktadir.

B) Birgok arastirma, dogal olarak meydana gelen toprak
asitlenmesinin asit yagmuru ve buna bagli hava
kosullari sonucunda olusup olusmadigini saptamaya
calismaktadir.

C) Asit yagmurunun ve buna bagli hava kosullarinin,
toprak asitlenmesinin dogal bir sonucu oldugu birgok
arastirma tarafindan ortaya konmustur.

D) Birgok arastirmada, asit yagmurunun ve bununla
baglantili ¢esitli hava kogullarinin, dogal olarak
meydana gelen toprak asitlenmesinin sonucu oldugu
belirtilmistir.

E) Asit yagmuru ve diger hava kosullarinin, dogal ola
meydana gelen toprak asitlenmesinin neticesinde
olustugu birgok arastirma tarafindan saptanmistir.

1"

46. Concerned about the ever-rising price of petroleum
products as well as the greenhouse effect, many
firms are trying to develop their own energy supply
with an earth-friendly nature.

A) Bircok sirket sera etkisiyle birlikte artan petrol

bir 6zellige sahip ke
amagliyor.

gelistirmeye cal

) Sera etkisi ve sirekli len petrol Urlnlerinin ‘b\
fiyatlar da birgok sirketi'doga dostu ve kendilerié‘"ait
enerji sebekesi gelistirmeye ydnlendiriyor. NS

Birgok sirket sera etkisinden ziyade petr: ) urtinlerinin
urekli artan fiyatlari hakkinda endi§e‘|(l>{dugu icin
da dostu 6zelligi bulunan 6ézel enaliji §e{%}<esi

iriyorlar. Q' ((\
S P

NG
N
Q\Q
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47. Technologists have long been designing computers
being woven into our daily life, embedded in clothes
and personal accessories.

A) Teknoloji uzmanlarinin uzun zamandir giysilere ve
kisisel aksesuarlara yerlestirilen bilgisayarlari
tasarlamalarinin sebebi bunlari giinlik hayatimiza
dahil etmektir.

B) Giysi ve kisisel aksesuarlara yerlestiriimis sekilde
glnlik hayatimiza dahil edilen bilgisayarlar, teknoloji
uzmanlari tarafindan uzun zamandir tasarlanmaktadir.

C) Teknoloji uzmanlari, uzun zamandir giysilere ve kisisel
aksesuarlara yerlestiriimis sekilde gunlik yasantimiza
dahil edilen bilgisayarlar tasarlamaktadir.

D) Teknoloji uzmanlar tarafindan uzun zamandir giinlik
yasantimiza dahil edilen bilgisayarlar, giysilere ve
kisisel aksesuarlara yerlestirilebilecek sekilde
tasarlanmaktadir.

E) Teknoloji uzmanlari uzun zamandir gnlik
yasantimiza dahil edilen bilgisayarlar tasarlamak
ve bunlar giysilere ve kisisel aksesuarlara
yerlestirilebilmektedir.

12

48 - 53. sorularda, verilen Tiirkge ciimleye
anlamca en yakin Ingilizce climleyi bulunuz.

48. Canlilar 6ldiigiinde, mantar ve bakteri gibi diger
canlilar onlarin temel bilesenlerini, 61 dokulardaki
karbonu oksijen ya da jene baglayarak, yeniden
islemeye baglarlar.

A) Starting recycling of ba
that have died requires
fungi and bacteria to com

the dead tissues

<
<
) When living beings di rder for the recycling e
basic ingredients to startyother living beings,
as fungi and bacteria, combine the carbon inite dead
tissues to oxygen or hydrogen. O

with oxygen or h

A
hen living beings die, fungi, bact r{a\/%d other living
ings that combine the carbon i %e d issues
ither oxygen or hydrogenﬁ rtr ling their
NI
E) When living beings di%ﬁ{ r
C

I&@ beings such as
fungi and bacteria stah y@ﬁg their basic

ingredients by c ing the*carbon in the dead
tissues with oxy or ogen.
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49. Avrupa kokenli insanlar arasinda goriilen hafif
zararli mutasyonlarin sayisi, modern insanlarin
kitaya ilk yerlestigi zamandan beri yavas yavas
artmaktadir.

A) The number of mildly harmful mutations among people
of European ancestry has been gradually increasing
ever since modern humans first moved into the
continent.

B) People of European ancestry have contributed to the
increase in the number of mildly harmful mutations
ever since modern humans first moved into the
continent.

C) Since people of European ancestry first moved into
the continent, mildly harmful mutations have been
gradually increasing in number among modern
humans.

D) The number of modern humans whose European
ancestors first moved into the continent has been
gradually increasing since the mutations became
mildly harmful.

E) A number of mutations have become mildly harmful for
modern humans of European ancestors since they first
moved into the continent, which has been gradually
increasing.

¥:
6&

50. Bazi aragtirmacilar dinozorlarin neslinin aslinda
tiikenmedigine ve birgok 6zelligi paylastiklari bilinen
kuslar olarak giiniimiizde hayatta kaldiklarina
inanmaktadir.

A) Some researchers believe that dinosaurs are not
actually extinct, and t ey survive today as birds,
with which they are k have shared many traits.

B) As dinosaurs are know hared many of their
traits with birds, some re

dinosaurs, today, are not

<

birds; so, many researchers are of the opinion tfya
they might be still around us. AN

It is believed by some researchers that c&hosaurs
hare many traits with birds existin{tbaay and have
completely died out. N
P @
\\’b

.’O é(b

. \S
51. Insan wklindg\%kaﬁ@?veya yapay modeller olan

androidler sﬁ(&!ir bilim kurgunun baslica
konularirfdan biridir.
A) A ids re mechanical or artificial models are

of ain subjects of science fiction as the
] y
@h \Y h&)g been in the shape of humans.

)éﬁ@roids that are human-shaped mechanical or
\ertificial models have long been one of the major
((\ subjects of science fiction.

>

C) Androids that have long been a major subject of
science fiction are mechanical or artificial models
shaped like a human.

D) Mechanical or artificial android models that have the
shape of humans have long been the leading subject
of science fiction.

E) One of the major subjects of science fiction is androids
which have long been human-shaped mechanical or
artificial models.

Diger sayfaya geginiz.
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52. Modern su borular ilk su kemerlerinden daha genis
ve ¢ok daha uzun olsa da su tagsimayi kontrol eden
hidrolik ilkeler hep ayni kalmigtir.

A) Modern water pipes are much wider and significantly
longer compared to the first aqueducts but the
hydraulic principles in controlling water carriage have
always been the same.

B) Even though modern water pipes are much wider and
significantly longer than the first aqueducts, the
hydraulic principles controlling water carriage have
always remained the same.

C) Although the hydraulic principles in controlling water
carriage may be the same, the modern water pipes
are much wider and significantly longer than the early
aqueducts.

D) Modern water pipes, which are much wider and
significantly longer than the first aqueducts, have
essentially the same hydraulic principles in controlling
water carriage.

E) The first aqueducts and the modern water pipes
the same hydraulic principles in controlling water
carriage but modern ones are much wider and
significantly longer.

53. Yeryiiziinde insan etkisi giiniimiizde o kadar by

54 - 59. sorularda, par¢gada anlam biitlinligiinii
saglamak i¢in bos birakilan yerlere getirilebilecek
ciimleyi bulunuz.

54. The eyes of starfish are extremely simple, are
located at the tip of each arm, and are primarily
light-sensing dots. ---- ense of smell, however,
is quite sensitive. Che tors on the starfish’s
skin can detect the faint of its prey, and
even determine the direc
coming. The starflsh then

red, cobalt blue and 2
NE
) Starfish can tell light from dark, but they are L@%W to
see much more than that. . O\
N\
The nervous system of starfish consi fthree main

tworks as oral, deep oral and ab@al

orm because

2NN
ay have entered a geological ime due to
great human impact arth, but science is still &\O&\}Q(\
or not. Qo)
W e

ered a new geologm(@’ne e
pact on Earth is on%‘isft \&

major deb 8 opicCs in science. ‘Q\
Q

D) Scientists are now discussing wheth Q«e ha((‘e\
entered a new geological time becayse of the big
impact humans have on Earth. O\

E) Human impact on Earth i
we have entered a new g
major debates in science.

so large that whether
ogical time is one of the
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55. Of all the animals, penguins are the primary
inhabitants of Antarctica. They have oily feathers
that provide a waterproof coat and a thick layer of
fat for insulation. ---- While they prevent penguins
from flying, they add weight and make it easier for
penguins to dive into the water for food. Because
predators cannot live in the brutally cold climate,
penguins do not need to fly; thus, their wings have
evolved over the centuries to resemble flippers or
paddies.

A) Female penguins lay eggs on the ice, then walk up to

80 km to open sea for food.

B) Penguins’ bones are solid, not hollow like those of
most birds that allow them to fly.

C) Seven of the 18 known species of penguins live in
Antarctica.

D) The penguins travel long distances and hunt at various

levels in the ocean.

E) They are the hardiest of all the animals that inha
Antarctic, staying throughout the year.

56. Dams have been built since ancient times, and
improvements were made at varying intervals as
engineering technology developed. ---- In the early
1900s, concrete dams became thinner, and a new
era of thin arch dams began. Earth and rock—fill
embankment dams became economical during and
after World War Il. In 1 innovative method of
using earth-moving an cting equipment to
place dry concrete great d the economics
of concrete dams.

&

m may require the relocatlory\/\

s the land.
\13

) On the other hand, numerous dams have be&(\
constructed in various countries.

) The construction
of existing propertie

Water quality is an important compon(ﬁhn sustaining
alance in nature. \ /\,

&0

Insects beco @nd ered because of the same

destructive c:@ ed by many other animals. The

leading c@ses ude habitat destruction,
introduced species, and chemical

displ
pol For example, there are many

species of tiger beetles and butterflies

ajor threat to most of these species is
4@ degradation and loss as well as
col

lecting.

57.

o°

0&) Insects make up more than 72 percent of global
animal diversity based on available information.

@

B) A rare and endangered species of insect is unlikely to
determine the fate of a large ecological system.

C) Pollution, and water development especially rank as
the most frequent causes of habitat degradation.

D) The vast majority of at-risk insects are reportedly
threatened by more than one of these causes.

E) Insects as a group are not at risk because many
species are widely distributed.

15 Diger sayfaya geginiz.
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58. In order to reduce emissions, there is a need to
switch to energy sources that do not emit
greenhouse gases. It is already being done, but the
speed must be increased. ---- American scientists
estimate that the rest of the world could do the
same before 2050. If the world acts quickly, it may
be possible to create a global network during the
second half of the century that will overcome
climate-difficulties handling a future in which we
keep on emitting huge quantities of greenhouse
gases.

A) Scientists have warned that it might already be too late
to fulfil the ambition.

B) Some nations, such as Iceland, Norway, and Costa
Rica, are close to getting 100 percent of their energy
from green sources.

C) It should be made mandatory to disclose the
energy-efficiency ratings of all new buildings.

D) The natural disasters such as tsunamis will be m
frequent due to greenhouse gases.

E) In the short run, the emission needs to be confined to
2.1 tonnes per capita per year.

59. In everyday language, the term ‘safety’ is often used
to denote absolute safety, that is, certainty that
accidents or other harms will not occur. ----
Therefore, engineers believe that what can be
achieved is relative safety, meaning that it is unlikely
but not impossible that m will occur. The safety

requirements in regul

represent different leve

Industries with high saf

but that is only part of the truth.

&

. O
ersAd.achieve

p@SQtially

probably
onstantly

Several methods are used by engine
safety in the design and operation of
ngerous technology.

ertwining of engineerlng@'d
wil sify in the future in, IQSp n

rising public expectahc&(\ Q}

E)
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60 - 65. sorularda, cliimleler sirasiyla
okundugunda parganin anlam bitiinliigiinii bozan
ciimleyi bulunuz.

60. (1) According to the World Gold Council, there are

61.

currently around 184,000 tonnes of gold sitting in bank
vaults, government reserves and personal collections.
(1) That sounds like an awful lot, until you realise that
just one cubic metre of the stuff weighs over 19 tonnes.
(i) Similarly, each litre of seawater contains just 13
billionths of a gramme of gold. (IV) Thus, all the world’s
known gold reserves could be laid out on a football pitch
in a layer only a metre or so high. (V) But, this is only the
gold that has been successfully mined and documented.

A) | B) Il C)lil D) IV E)V

(1) A hand-size monkey called marmosets is in great
demand in labs and yet almost nowhere to be found.
() With their small size, fast growth, and sophisticated
social life, marmosets attract the attention of

neuroscientists. (lll) So, they have be
engineered to make their brains e
serve as models for neurologic
autism and Parkinson’s. (IV) T
back-and-forth conversations,
responsibility for caring for the
problem is there are almost none
by researchers because of their endangered status.

A) I B) Il C)lil D) IV

\ 4

17

62. (1) Plants, like people, have definite ideas about where

they like to live. (I1) Like people, they flourish in friendly
conditions and become weak and dispirited if life is too
difficult for them to cope with. (lll) Unlike people,
however, plants cannot take practical steps to improve
their homesite — they cannot up and move, and they
cannot protect themselv inst adverse conditions.

systems that enable the
periods without being wate
responsibility of people taki

Nl
&
Omega-3 is the supplement best known ag a’brain
ster. (I) Rich in oils, fatty fish like herrings, sardines
ackerel survive extreme temper tq?GS.
ough there is so much resear¢hin t erature
between Omega-3 an br; most of it is

mall, commercially.r@ti ate\ nd unreliable
studies. (IV) When these are@‘n V%\the evidence that

0
is left is not convincing.&@!o@earch is needed to
obtain sufficient evide bey doubt on whether
Omega-3 is good fof brajf
A) | B) I D) IV E)V
) ) g ) )
O

<
S
“\6 . Q@lé know dirty air is bad for our bodies, causing the
quivalent of millions of deaths worldwide every year,
(Qe'ltf'll' f death Idwid
O

making it a bigger killer than smoking. (1) But could air
pollution be bad for our minds too? (lll) A study has
found that psychotic experiences, which can involve
hearing or seeing something that others do not, are
more common among teenagers in the UK’s most
polluted areas. (IV) Noise pollution can increase stress
and disrupt sleep, two factors associated with psychotic
experiences. (V) However, the association does not
mean that breathing in air pollution leads to psychosis in
teenagers, because there could be other explanations.

A) | B) Il )il D) IV E) V
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65. (1) After decades of special effects and artists’
impressions, the world got its first look at a real black
hole in April 2019. (Il) The image quickly spread around
the globe, hitting the front pages of many newspapers.
(i) Scientists are never satisfied, and this is no
exception. (IV) It shows an ethereal ring of orange light
around the supermassive black hole at the heart of the
M87galaxy, 55 million light years from Earth. (V) The
image was taken using the combined power of eight
radio observatories around the world by the Event
Horizon Telescope team comprised of 387 scientists.

A) I B) II )il D) IV E) V

18 Diger sayfaya geginiz.



2021-YOKDIL/2/iNGILiZCE/FEN BIiL

66 - 68. sorulari agagida verilen pargaya gore
cevaplayiniz.

Barnacle geese are radically changing their migration
patterns as a result of the warming climate and
speeding up their annual trip to reach the best breeding
spots, with devastating consequences for chicks. Each
year, the adults migrate 3,000 kilometres from the North
Sea to breeding grounds in the Russian Arctic. They
normally stop on the way for food and rest along the
Baltic Sea, but they have started skipping these rest
breaks to reach the Arctic in time for its increasingly
early spring. This has meant they arrive at their
destination almost two weeks ahead of their usual
schedule. The early arrival has created problems; the
geese are exhausted and need time to replenish energy
before laying eggs. As a result, they can fail to lay in
time for the chicks to hatch when food quality is at its
peak. This is making it harder for the chicks to become
strong enough to survive the return journey.

66. According to the passage, barnacle geese ----.

A) changed the content of their source of food

B) usually make stopovers more
before

C) used to have stopovers on
grounds

D) have developed a new way to lay eggs without h
to migrate

E) ski ctic and prefer the

19

67. It is pointed out in the passage that ----.

A) adult geese have always flown without break to their
breeding ground

B) the Arctic is the most preferred place to breed for all
kinds of migratory bird

C) barnacle geese spen
the Russian Arctic

he year on breeding in

time than

is clear from the passage that ----.
rising temperatures in the Arctic cau

have more stopovers
avggﬁ\e place for

C) barnacle geese have dapted to need
less time to repleni gy before laying eggs

D) early arrival of kQacl ese in their breeding sites
has unfortugb es for the chicks

E) breedm&%otx@ every type of geese change as a
result o ming climate

rnacle geese

Diger sayfaya geginiz.
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69 - 71. sorulari agagida verilen pargaya gore
cevaplayiniz.

Some sheep have a cultural tradition of migrating, but
this knowledge can be lost in a generation if their
journeys are interrupted. Every spring, bighorn sheep
migrate to higher altitudes, following nutritious new
vegetation as it emerges from the melting snow. But is
knowledge of these routes inherited genetically, or is it
something that must be learned? To answer this
question, a group of researchers looked at how the
sheep behaved when moved to new locations by
people, known as translocation. They studied data from
129 bighorn sheep from four populations that had lived
in the same area for more than 200 years. The animals
were fitted with special GPS collars, — a highly
advanced gadget — and the team compared their
movements with those of 80 sheep translocated into
new populations in unfamiliar environments. Between 65
and 100 percent of sheep living in the same area as
their ancestors climbed 1,000 metres up mountainsides
to graze on new vegetation as it appeared in spring.
contrast, only seven of the translocated sheep beh
in this way. Because the other 73 translocated sheep
did not migrate, it seems that migration cues are not
inherited genetically.

69. We understand from the pas

A) were able to follow migration r
only in the spring

B) co*wect most of the bighorn she
veg

65 percent O sheep to migrate to graze on

20

70. It can be understood from the passage that ----.

A) bighorn sheep that live in the same area for a long
time do not feel the need to migrate

B) bighorn sheep instinctively tend to migrate when they
are translocated

C) migration is a learned
rather than an inherent

rin bighorn sheep

E) bighorn
habits eve
<
&
N
o
&
e passage is mainly about ----. N
the genetic features of bighorn sheep their
ration habits \ /1,
B) t ral migration tradition e&%@sheep
C) the analysis of mlgratug&te§@ghom sheep
D) the features of @) edﬁs of bighorn sheep and

how to |mprove

6(0

E) the techni searchers use to conduct their
study g t(%'h
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72 - 74. sorulan asagida verilen pargaya gore
cevaplayiniz.

Solar water heating systems convert solar radiation into
useable thermal energy in the form of hot water.
Domestic solar water heaters can provide households
with a large proportion of their hot water needs while
reducing the amount of conventional fuel used and
hence reducing home energy costs. The amount of hot
water produced will depend on the type and size of the
system, the climate, and location for solar access. Over
the years, a variety of system designs have been
developed and tested to meet specific consumer needs
and environmental conditions. The first solar water
heaters consisted of exposed tanks of water left out to
warm in the sun, efficient only on sunny days. Used on a
few farms and ranches in the Southwest of the United
States in the late 1800s, they were reportedly capable of
producing water hot enough for showering by the late
afternoon on clear days. The first solar water heater,
manufactured commercially under the trade name, was
patented in 1891.

72. Which of the following is true for s
systems?
A) The use of solar water heati

for other energy sources in
efficiency.

B) The amount of energy produc
systems far exceeds the amount that could be
essential for typical households.

water heating sys
ess which basically
tional fuel into therm

are characterised by a

nergy. \

were projected in th%!t
iate even for uses;l\ﬁ@b \

unts of energy. K
‘Q\
Q

S

N\
@
O
(00

Q)\)
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%

73. Which of the following could be inferred from the
passage?
A) Solar water heating systems have changed little since
their earliest forms were first used.

B) Solar water heating sy
densely populated ar
introduced.

s were highly popular in
en they were first

ith some reétrictlons that ,\/\(\
2
>
O\<°
Q
v
\\\ SV

of the author is ----.

ince the reader not to u’e* sok@%ter heating
s in households (\

B) to give a brief descrlp.k$

formed

C) to describe Whe f(@heatlng systems were

developed

hB\Nay thermal energy is

D) to prO\ﬁé a bﬁ&early history of solar water heating

sysg(ns \0‘;%

Eé@'com&re conventional heating systems with
-eff|0|ent ones

A

lves the transformation of O ((\
&
N\
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75 - 77. sorular asagida verilen pargaya gore i
cevaplayiniz. 76. It is understood from the passage that modern

exploration of space ----.

A) was initially focused on the differences between the

The desire to explore space is nearly primal for Homo Earth and other spaces

sapiens. Early humans quickly spread out of Africa to

every region on the planet, then came to speculate that B) changed science in a to make it possible to
the stars and planets were yet other material places understand both spa Earth

worthy of exploration. The idea to travel to these other

worlds was inevitable. However, for thousands of years, C) restricted the possible ce exploration
humans commonly drew fundamental distinctions attempts
between the Earth and non-Earth environments. . N
Aristotle taught that the laws of nature that applied on D) was ba the laws of
Earth did not necessarily apply beyond the Earth, thus
severely restricting the very possibilities for human , .
space exploration. During the early modern exploration E) changed o ace exploration
of the Earth, astronomers such as Galileo Galilei and his
contemporary, Johannes Kepler, began the modern
observational exploration of the space, using new
techniques and instruments of science. A result of this
exploration of space was the scientific revolution itself.
Science is now seen as applicable to understanding the
entire world, to both space and Earth. In this way,
civilisation has been transformed.

e passage is mainly about the ----. ‘\
technologies and instruments used in

75. According to the passage, early

A) quickly left Africa to explore
regions to places they were

C) underlying reasons t@co@e humans to improve

er there were similar science

D) historical deve é&omez@?he understanding of space

B) thought that other planets a exploratlon

different from Earth
E) currenf@rvpo& of modern observational exploration

of S@ce\\}oc%
& S
A
N
St @
O” &
e moving out of Afri (b\\ \>\
R
D .o
ARG
NN
SEESE
N
O
%O
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78 - 80. sorular asagida verilen pargaya gore
cevaplayiniz.

Although it seems out-of-date currently, telegraphy has
always been a reliable method of communication
employing electrical signalling impulses produced and
received manually or by machines. Telegraph signals
are transmitted over open wire or cable land lines,
submarine cables, or radio. Early equipment devised by
Samuel F. B. Morse consisted of a mechanical
transmitter and receiver or register for the first time.
Operators soon learned to handle messages faster by
using simple manual keys and audible sounders.
Subsequently, telegraph transmission and reception
became mechanised. Those days, it was also used in
many other ways. For instance, telegraph facilities for
use by the general public to transmit messages both
domestically and internationally were provided by
communication companies and government
administrations. Special telegraph facilities included
those for news services, distribution of market prices of
securities and commodities, and private lines betwee
such points as the factories and offices of a compa
the exchange of messages, orders, payroll data, and
inventories.

78. According to the passage, te

A) is the fastest communicatio

B) did not include a mechanical i
Samuel F. B. Morse’s version

79. Which of the following is not true about telegraphy?

A) A telegraph signal can be transmitted using different
instruments.

B) Audible sounders were among the factors that led to a
faster communication.

C) It was easier to trans
mechanically.

e still been widely used across gI

ly transmit message&'l'épalls(b<Q

C) provided by governme@a&nm@@atlons offered only
domestic services

D) were utilised for Qn oses
) were utili \ y@p

N
E) ran better @ore g mechanised
% 4

i

TEST BITTi.
CEVAPLARINIZI KONTROL EDiNiz.
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10.

1.

12
13.

14.

SINAVDA UYULACAK KURALLAR

. Sinav salonunda saate entegre kamera ile kayit yapiliyor ise kamera kayitlarinin incelenmesinden sonra

sinav kurallarina uymadig tespit edilen adaylarin sinavlari, OSYM Yonetim Kurulunca gegersiz sayilacaktir.

Cep telefonu ile sinava girmek kesinlikle yasaktir. Adaylarin sinav binasina; her tirli delici ve kesici alet, atesli
silah, canta, clizdan, cep telefonu, saat (kol saati ve her tirli saat), anahtarlik, her tirlii arag anahtari, kablosuz
iletisim saglayan bluetooth ve benzeri cihazlar ile; kulaklik, kolye, kiipe, yiiziik (alyans hari¢), bilezik bros ve diger
takilar, her turli plastik, cam esya (seffaf/numaral goézliik harig), plastik ve metal icerikli esyalar (bagorti igin
kullanilan boncuklu/boncuksuz toplu igne, para, anahtarliksiz basit anahtar, ulagsim karti, basit tokal kemer,
basit tel toka ve basit piercing (tagsiz, metal top veya sivri u¢lu) hari¢) banka/kredi vb. kartlarla, her tiirli
elektronik/mekanik cihaz ve her tiirlii miisvedde kagit, defter, kalem, silgi, kalemtiras, kit otu, sozliik, dergi,
gazete ve benzeri yayinlar, cetvel, pergel, acidlcer ve bu gibi araclarla, yiyecek icecek ( sige icerisinde
bandaji ¢cikarilmis su harig), ilag ve diger tiketim maddeleri ile gelmeleri yasaktir. Bu tiir
nava girmis adaylar mutlaka Salon Tutanagdr’na yazilacak, bu adaylarin sinaymgecersiz sayi . ak, OSYM

Baskanlhgi tarafindan belirlenen Engelli ve Yedek Sinav Evraki Yoneti sinava
girecek olan engelli adaylarin sinava giris belgelerinde yazili olan arag¢ i . yukarida belir-
tilen yasaklarin kapsami disinda degerlendirilecektir.

Bu sinav icin verilen cevaplama siiresi 180 dakikadir (3 saat). Sinav basladiktan i icinde adayin

sinavdan gikmasina kesinlikle izin verilmeyecektir. Bu siire dig
cevap kagidinizi ve soru kitap¢iginizi salon gorevlilerine t
sirelere aykiri davraniglardan adayin kendisi sorumludur.

Sinav siresince gorevlilerle konusmak, gorevliler
kindan ve algcak sesle konusmalari ayrica adaylarin
Sinav sirasinda, gorevlilerin her tarlQi uyarisina uymak zorundasiniz: once,
sinav kurallarina uymaniza baghdir. Kurallara aykiri davranista bulun aggélar Salon
Tutanagi’'na yazilacak ve sinavlari gecersiz sayilacaktir. \\
Sinav sirasinda kopya ¢eken, cek n, kopya veren, kopya cekilmesine yardi %e Ie ‘@'Ion Tutanagr'na
yazilacak ve bu adaylarin sinavl sayilacaktir. Adaylarin test sorularina w aplarin dagihmlan

bilgi islem yontemleriyle incele den elde edilen bulgular bireysé Iu olarak kopya cekil-
In sinavi gecgersiz sayﬂ@ayn u aday/adaylar 2 yil bo-

digini gosterirse kopya eylemin
yunca OSYM tarafindan diizenl ru yapamayacak ve si eyecektir. Sinav gorevilileri

aktir. Ayni sekilde gorevililerin de a arla ya-
silgi vb. seyleri istemeleri kesQ{N asaktlr

vinizin gecerli saylimasi,
e yapilacak uyarllar m

bir salondaki sinavin, kurallara u i digini, toplu kopy (§|m id€ bulunuldugunu raporlarinda
bildirdigi takdirde, OSYM bu salonda sinava giren tilfadaylarin sinavini ggm ayablllr

Cevap kagidinda doldurmaniz gereken nmaktadir. Bu al @ I d runuz Cevap kagidinizi baskalari
tarafmd& meyecek sekilde tutmani mektedir. Cevap ka& azilacak her tirlli yazida ve yapilacak

n kalem kullanilacaktir. Sinav siresi |g|% cevaplarm cevap kagidina isaretlenmis
a isaretlenen cevaplar gecerli d|r

Soru ki o apcik kapaginda bulunan %ﬂa ol%jurunuz Size sodylendigi zaman sayfalarin eksik
olup ol : hatalarinin bulunup bul ni1 ve soru kitapgiginin her sayfasinda basili bulu-
nan soru ki itapcigin on kapagi dg%as oru kitapc¢ik numarasiyla ayni olup olmadigini kontrol
ediniz. S i g asl| eksik veya basi ataliySa degistirilmesi icin salon baskanina basvurunuz.

Size verile N numarasini ¢ v@?gﬂ inizdaki “Soru Kitap¢ik Numarasi” alanina yaziniz ve

kodlayiniz. 1zdaki “Soru klgh arami dogru kodladim.” kutucugunu isaretleyiniz.
Soru kitap¢igi iizerinde yer alan Soru i marasini dogru kodladiginizi beyan eden alani imzalayiniz.

Sinav sonunda soru kitapciklari toplan YM’'de incelenecektir. Soru kitapciginizin sayfalarini koparmayi-
niz. Soru kitapc¢iginin bir sayfasi bile k cikarsa sinaviniz gecersiz sayilacaktir.

Cevap kagidina ve soru kitapc¢igi a2|lma5| ve isaretlenmesi gereken bilgilerde bir eksiklik ve/veya yanlislik olma-
si halinde sinavinizin degerlendirilmesi miimkiin degildir, bu husustaki 6zen yiikiimliligi ve sorumluluk size aittir.

Sorulari ve/veya bu sorulara veérdiginiz cevaplar ayr bir kAgida yazip bu kagidi disari ¢cikarmaniz kesinlikle yasaktir.

Sinav salonundan ayrilmadan once, soru kitap¢iginizi, cevap kagidinizi ve sinava giris belgenizi salon go-
revlilerine eksiksiz olarak teslim ediniz. Bu konudaki sorumluluk size aittir.

Sinav siiresi salon gorevlilerinin “SINAV BASLAMISTIR” uyarisiyla baslar, “SINAV BITMISTIR” uyarisiyla sona erer.

Bu testlerin her hakki sakiidir. Hangi amagla olursa olsun, testlerin tamaminin veya bir kisminin Merkezimizin yazili izni olmadan kopya edilmesi,
fotografinin ¢ekilmesi, herhangi bir yolla goaltiimasi, yayimlanmasi ya da kullaniimasi yasaktir. Bu yasagda uymayanlar gerekli cezai sorumlulugu ve
dogacak tiim mali kilfeti pesinen kabullenmis sayilir.
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